Description: Strategy for double sorting of degron-Cas-Repressor systems

Cells are first sorted gating on BFP levels with a wider gate (BFP+), expanded and then sorted
again (M population).

*Page 2: Example of first sorting. Sample: degron-dCas9-KRAB. Population sorted: BFP+
*Page 3: Example of second sorting. Sample: degron-dCas9-KRAB. Population sorted: M and Hi.
Population M is used for all the experiments described in the manuscript.

The same gating coordinates are applied to all samples.
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